
ASSEMBLY & INSTRUCTION MANUAL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

INc4b062_UK_FR_ES_DE_IT

INc4b062_UK_FR_ES_DE_IT_835-530_835-530V70

120kg



1



2



3



4



5



6

① 01 ② 01

③ 04 ④ 01

⑤ 04

M6*25

⑥ 04

M7*40

⑦ 04

M6*45

⑨ 04

M6*18*1.2

⑧ 04

M6

⑩ 01

M5

01

M6



7

(6)

(10)

(4)

(5)

(8)
(9)

(11)

50

(2)

(3)

② 01

③ 04

⑤ 04

M6*25

⑨ 04

M6*18*1.2

⑧ 04

M6

01

M6

④ 01

⑥ 04

M7*40

⑩ 01

M5

02

01



8

(1)

(7)
(11)

(11)

100

01

M6

01

M6

① 01

⑦ 04

M6*45

04

03



9

D
one


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10

